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Homework Discussion



QUESTION ) (Home Challenge-02) @

NS

Solve in real numbers the equation
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Common base : log x = log,, X

Natural base : log, x = In (x)

(where e=2.718 & e? = 7.389)

# In Calculus : log x is considered as log with natural base.

108'0 = 2-303
In2=0.693, <

In3= 1.098,
In5=1.609,
In 7 =1.945,

A Dox 4oy = Zn(xy)
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QUESTION )

- log,,1331). 11
A logll(ll )’ B = 1083855 o 10g385 = Q‘ﬁags
C = log,(log, (logs625)); D = 10810016
Find the valueof AxB+-C-D
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QUESTION )
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QUESTION )

Find the value of log,10 — logg125.
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QUESTION >

Simplify : 710835 4 310857 _ 5logs7 __ 7logs3
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QUESTION >

log,24 log,192
Prove that B2 2: =3 =~
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QUESTION )

Simplify & compute :
log=250 log:10

logsed 10812505




QUESTION [JEE Advanced 2018] )

The value of ((log,9)?)og200829 x (/7)!0847 js



QUESTION [JEE Advanced 2013] )
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QUESTION ) *AASRQ*#
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QUESTION >

logy_14=1+ logz(x — ])then X is
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QUESTION )

(x + 1)19810(x+1) = 100(x + 1) then x is
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QUESTION ) S
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QUESTION )
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QUESTION )
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QUESTION )

At ASRQA A4
Find the square of the sum of the roots of the equation
log; x-log, x-loge x = log; x-log, x + log, x - loge X + loge x - log, x.
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QUESTION ) *HKCLSH ¥

Solve for x : log?(4 — x) + log(4 — x) - log (x + -;—) — 2log? (x = l) = (.
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QUESTION )

Taho!
Indicate all correct alternatives, where base of the log is 2. /{;/_:;}

3 ; 5
The equation xa' °82%)" +1082X—7 — /5 has .

At least one real solution
Exactly 3 real solutions
Exactly one irrational solution

Imaginary roots
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QUESTION )

B
The equation x|108sx)? —logsx+5] _ 3v3 has
Exactly 3 real solutions
At least one real solution

Exactly one irrational solution

Complex roots
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Home Challenge-03

Positive integers a and b satisfy the condition log, [log,a(log,»(21°°?))| = 0. Then the
possible values of a + b is/are:
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QUESTION ) (KTK 1)

Solve the following inequalities:

(1) =>-

X—-5

(2) =<0

X-9

() <=

X—3%

(4) =<1

(5)

Ans. (1) x € (-, =5) U (5, %), (2) x € (-2, 0) U [1, =),
(3)x<[5,9),(4)x<[0,5), (5) x € (-2, 1) U {2)



QUESTION ) (KTK 2)

(x+2)(x+3)
(x—=2)(x-3)

Complete solution set of inequality <1lis

®) (0]
(o, 0] U (2, 3)
©) 123
@) =2)uE )

Ans. B



QUESTION > (KTK 3)

X% —-5x+6
x2—-x—-12

Find sum of all integral values of x satisfying

Ans. 3



QUESTION ) (KTK 4)

Which of the following does not hold true for the expression
E=vVx2—-2x+1—-Vx2+2x+17?

@ E=2ifx< -1

E=-2xif-1<x<1
@ E=-2ifx>1
@ E=-2forallx

Ans. D



NOT— ) KTK 07

If x € [-5, 7], then number of integral values of x satisfying = Ciis
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Ans. C
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Solution set of the inequalityx + 1 < gis
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Ans. C



QUESTION ) KTK 09

(x+1)(x—3)?(x-5)(x—4)3(x—2)
X
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The set of all values of x for which
R) (—o,-DU©,2)U*5)

(—=1,0) U (2,4) U (5, =)

@ (=1,0) U (2,3) U (4,5)

@ (—o0,—1) U (0,2) U [3,5)

Ans. A



QUESTION ) KTK 10

Which of the following sets does not satisfy the inequality é =27

® (-V20)

Ans. D
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QUESTION )

Solve: (x? —x—1)(x*—x—7) < -5

Ans.x € (—2,-1)U (2,3)






*QUAN-1! Shne 1 (a-2-1) (UZ=2=T) €75

-——

S (2 I TE N TR

TAH 1

e 1) (-8~ 5
X 1-qtt43 <-5
Ov. 42-8L 4+ R <0
Oy @-¢) (=29 <o

O (2-%=6) (N2-n~-2)K0O

> (k-3 () (x-2)(7241) <o

— o r
< nl Py YAt v

-




QUESTION )

x> (x—1)%(x+4)
(x+1)(x-3)

(B) (—o,—4]
(~1,0]

If

> (,thenx €

Ans.A, B, C, D
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X(3—4x)(x+1)
(2x-5)

<0

Solve

(2x+3)(4-3x)3(x—-4)
(x—2)2x5

Solve

l
Solve |X—4|(x+6) T
5x+1

(x+1)2 <1

Solve

x4
Solve == > 0

6x%2-5x-3
Solve — <4
Xc=2X+6

(x+2)(x%-2x+1)
—4+3x—Xx2

Solve > ()

<0

(x—-3)(x+5)(x-7) <0

TAH 03 e

N4

[Ans. x € (—o0,—1) U (0,3/4) U (5/2, ®)]

[Ans. x € (—,—3/2) U (0,4/3] U [4, )]
[Ans. x € (—6,—5] U [3,4) U (4,7]]
[Ans.x < 0 orx > 3,x # —1]

[Ans. x € R — {0, 2}]
[Ans. —= < x < 3]

[Ans. x € (—o0,—2] U {1}]
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QUESTION )

Find all values of x for which the following equalities hold true.

(1) log.x*=1 (ii) logzx = log,(2 — x)

(iii) log,x? = log,x (iv) logy,,(2x+ 1) =log;,(x+ 1)
(v) logy/3(x*+8) =—2
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